
Histogram of sapply(1:100, function(i) which.max(mxd[, i]))

sapply(1:100, function(i) which.max(mxd[, i]))

F
re

qu
en

cy

0 5 10 15 20

0

5

10

15



●

●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

●●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

● ●

●

●

●

● ●●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●●

●

●

●●

−
0.

8

−
0.

6

−
0.

4

−
0.

2

0.
0

0.
2

0

5

10

15

locus.df$diff.bp/1e+06

lo
cu

s.
df

$m
ax

.lo
gP

−
1.

0

−
0.

5

0.
0

0.
5

1.
0

0.0

0.1

0.2

0.3

0.4

0.5

0.6

locus.df$diff.bp/1e+06



Histogram of ldf$diff.interval

ldf$diff.interval

F
re

qu
en

cy

−
60

−
40

−
20 0 20 40

0

200

400

600

800

Histogram of ldf$diff.interval

ldf$diff.interval

F
re

qu
en

cy

−
60

−
40

−
20 0 20 40

0

200

400

600

800



Histogram of ldf$diff.interval

ldf$diff.interval

F
re

qu
en

cy

−
60

−
40

−
20 0 20 40

0

200

400

600

800

Histogram of ldf$diff.interval

ldf$diff.interval

F
re

qu
en

cy

−
60

−
40

−
20 0 20 40

0

200

400

600

800



Histogram of f5th

f5th

D
en

si
ty

0e
+

00

2e
+

06

4e
+

06

6e
+

06

8e
+

06

0.0e+00

2.0e−07

4.0e−07

6.0e−07

8.0e−07

1.0e−06

1.2e−06

Histogram of f5th

f5th

D
en

si
ty

0e
+

00

2e
+

06

4e
+

06

6e
+

06

8e
+

06

0.0e+00

2.0e−07

4.0e−07

6.0e−07

8.0e−07

1.0e−06

1.2e−06


